
True or False

Mark the questions on the following screens as True or False.

1) A tattoo is placed in the left ear.

a) True

b) False
.

2) An angora can be raised for wool.

a) True

b) False
.

3) When lifting a rabbit up you always want to lift them by the ears.

a) True

b) False
.

4) A male rabbit is called a doe.

a) True

b) False
.

5) An all wire cage is the easiest to keep clean.

a) True

b) False
.

6) A pedigree is a list of a rabbit's litter mates.

a) True

b) False
.

7) Rabbits can get fleas.

a) True

b) False
.

8) Rabbits can live on lettuce and carrots alone.

a) True

b) False
.

9) It is ok to foster babies from one litter to another.

a) True

b) False
.

10) When breeding you always take the buck to the doe's cage.

a) True

b) False
.
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11) Keeping your rabbitry clean can help prevent disease.

a) True

b) False
.

12) A, D, E, & K are symbols for vitamins, which support all functions of the body.

a) True

b) False
.

Rabbit Parts

Identify the parts of the rabbit on the next screen.
Use the number to the right of the answer box to locate the part on the diagram.
Select the letter of the correct answer from the list to the right.

13) ______ 1

14) ______ 2

15) ______ 3

16) ______ 4

17) ______ 5

18) ______ 6

19) ______ 7

20) ______ 8

21) ______ 9

22) ______ 10
.

a) Neck

b) Ears

c) Chest

d) Tail

e) Mouth

f) Saddle

g) Toes

h) Leg

i) Foot

j) Eye
.
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Multiple Choice

Read the sentences for each question on the following screens and select the best answer.

23) A nest box is needed when a rabbit

a) calves

b) needs a bed

c) gives birth (kindles)

d) is sick
.

24) The amount of feed a rabbit eats to gain 1 pound of body weight is called?

a) feed conversion

b) weight loss

c) fat

d) weight gain
.

25) Ear canker is caused by?

a) ear wax

b) a virus

c) mites

d) loud noises
.

26) Which is the most common ingredient in rabbit food?

a) calcium

b) alfalfa

c) corn

d) water
.

27) Commercial breeds of rabbits are not ready to breed until they are how old?

a) 4-5 months

b) 5-6 months

c) 6-7 months

d) 8-9 months
.

28) Throughout a rabbit's lifetime, its teeth continue to what?

a) break off

b) grow

c) get stronger

d) get soft
.
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29) How often should water and feed dishes be cleaned?

a) once a week

b) once a month

c) twice a year

d) once a year
.

30) What is the gestation period of a rabbit?

a) 10-14 days

b) 28-32 days

c) 35-40 days

d) 60-70 days
.
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True or False

Mark the questions on the following screens as True or False.

1) A rabbit should be tattooed in the left ear.

a) True

b) False
.

2) Conformation refers to the shape of the body of the rabbit.

a) True

b) False
.

3) When showing your rabbit you want it to have a baby coat.

a) True

b) False
.

4) Snuffles is pneumonia for rabbits.

a) True

b) False
.

5) A doe may fail to conceive if it is too heavy.

a) True

b) False
.

6) During showmanship, when you flip the rabbit on its back their hind legs should be pointed
away from your stomach.

a) True

b) False
.

7) Rabbits can handle hot weather better than cold.

a) True

b) False
.

8) Each breed of rabbit has a body type (profile) that is determined by the parts of the body.

a) True

b) False
.

9) Ear mites can be treated with water.

a) True

b) False
.

10) A rabbit's ears can help regulate its body temperature.

a) True

b) False
.
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11) A French Lop is a 4-class rabbit.

a) True

b) False
.

12) A Mini Rex is a 4-class rabbit.

a) True

b) False
.

Multiple Choice

Read the sentences for each question on the following screens and select the best answer.

13) In showmanship, what is something you do not check for?

a) mites

b) weight

c) tail carriage

d) eye color
.

14) What disease can be described as: Mammary glands become hot, reddened and swollen - 
later may appear blue in color.

a) Snuffles

b) Weepy eye

c) Myxomatosis

d) Mastitis
.

15) How many rabbits make up a meat pen?

a) 1

b) 2

c) 3

d) 4
.

16) Rabbit meat has how many calories per pound?

a) 650

b) 795

c) 810

d) 920
.

17) What respiratory disease causes a yellow nasal discharge, heavy breathing, and the lungs 
become infected?

a) Coccidiosis

b) Enterotoxemia

c) Heat Stroke

d) Snuffles
.
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18) Which is not a form of malocclusion?

a) Splayed

b) Butting

c) Buck teeth

d) Wolf Teeth
.

19) At how many weeks of age should a commercial meat type rabbit weigh 4 pounds and be 
ready for fryer marketing?

a) 6

b) 8

c) 10

d) 12
.

20) What is the average feed conversion of rabbit?

a) 1-2 pounds of feed for 1 pound of gain

b) 2-3 pounds of feed for 1 pound of gain

c) 3-4 pounds of feed for 1 pound of gain

d) 4-5 pounds of feed for 1 pound of gain
.

21) Rabbit feed should generally have how much protein in it?

a) 5 - 7%

b) 10 - 12%

c) 14 - 16%

d) 20 - 22%
.

22)

a) 1, 2, 3, 4

b) 4, 3, 2, 1

c) 2, 1, 3, 4

d) 3, 1, 2, 4
.
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Rabbit Parts

Identify the parts of the rabbit on the next screen.
Use the number to the right of the answer box to locate the part on the diagram.
Select the letter of the correct answer from the list to the right.
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23) ______ 1

24) ______ 2

25) ______ 3

26) ______ 4

27) ______ 5

28) ______ 6

29) ______ 7

30) ______ 8

31) ______ 9

32) ______ 10

33) ______ 11

34) ______ 12

35) ______ 13

36) ______ 14

37) ______ 15

38) ______ 16

39) ______ 17

40) ______ 18

41) ______ 19

42) ______ 20

43) ______ 21

44) ______ 22
.

a) Ears

b) Forequarters

c) Hock

d) Chest

e) Mouth

f) Dewlap

g) Hindquarters

h) Saddle

i) Toes

j) Shoulder

k) Neck

l) Foot

m) Flank

n) Loin

o) Ribs

p) Rump

q) Stomach

r) Cheek

s) Tail

t) Eye

u) Hip

v) Leg
.
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True or False 
Mark the questions on the following screens as True or False. 
  

1) You can check the bone size of a rabbit by feeling the front leg. 
 a) True 

b) False 
. 

  
2) A benefit to palpating a doe is to see if they have a disease. 

 a) True 
b) False 

. 
  

3) The size of a litter may be determined by heredity. 
 a) True 

b) False 
. 

  
4) Chromosomes are located on tread-like bodies called genes. 

 a) True 
b) False 

. 
  

5) Rabbits and hares are members of the Ochotonidae family. 
 a) True 

b) False 
. 

  
6) Rabbits are born fully furred. 

 a) True 
b) False 

. 
  

7) Hares are born with their eyes open. 
 a) True 

b) False 
. 

  
8) When blowing into the fur, dark skin indicates a prime pelt. 

 a) True 
b) False 

. 
  

9) You must be an ARBA member to register a rabbit. 
 a) True 

b) False 
. 

  
10) All rabbits have flyback fur 

 a) True 
b) False 

. 
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11) Wry neck can be caused by a middle and inner ear infection. 
 a) True 

b) False 
. 

  
12) Sunlight cannot be used to disinfect equipment. 

 a) True 
b) False 

. 
  

13) Ears help regulate a rabbit's body temperature. 
 a) True 

b) False 
. 

  
14) It is easiest to palpate a doe at 5-8 days. 

 a) True 
b) False 

. 
  

15) In order to register a rabbit, it must be at least 6 months old, meet the minimum weight 
requirements of a senior animal, and be fee of any disqualifications. 

 a) True 
b) False 

. 
  

16) Genes that hide the effect of other genes are called dominant. 
 a) True 

b) False 
. 

  
Multiple Choice 
Read the sentences for each question on the following screens and select the best answer. 
  

17) What is the average number of bunnies a doe should wean for her to remain in a commercial 
rabbitry? 

 a) 5-6 
b) 7-8 
c) 9-10 
d) 11-12 

. 
  

18) A rabbit's respiratory rate is ______ beats per minute. 
 a) 20-80 

b) 25-120 
c) 25-150 
d) 30-100 

. 
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19) The practice of rabbits consuming some of the droppings direct from the anus is called 
____________ ? 

 a) Coprophagy 
b) Genotype 
c) Pyometr 
d) Toxoplasmosis 

. 
  

20) Agouti refers to: 
 a) Eye color 

b) Fur color pattern 
c) Body type 
d) Disease 

. 
  

21) Which reproductive part controls the size of a litter? 
 a) Ovaries 

b) Ovaducts 
c) Uterine Horn 
d) Vulva 

. 
  

22) Myxomatosis is what type of disease? 
 a) Bacterial 

b) Hereditary 
c) Parasitic 
d) Viral 

. 
  

23) Which is a bacterial disease? 
 a) Rabbit pox 

b) Toxemia 
c) Enteritis 
d) Toxoplasmosis 

. 
  

24) Mating rabbits that are closely related is called: 
 a) Linebreeding 

b) Outcrossing 
c) Inbreeding 
d) Linecrossing 

. 
  

25) The disease believed to cause the greatest loss of rabbits is: 
 a) Coccidosis 

b) Conjunctivitis 
c) Heat Stroke 
d) Mastitis 

. 
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26) According to the Standard of Perfection, what are the 5 accepted eye colors? 
 a) Brown 

b) Green 
c) Marbled 
d) Blue 
e) Hazel 
f) Blue-gray 

g) Pink 
. 

  
27) What is a rabbit's average rectal temperature? 

 a) 98.5 F 
b) 101 F 
c) 103.1 F 
d) 104.5 F 

. 
  

28) At what age does a kit's eyes open? 
 a) 2-3 days 

b) 4-9 days 
c) 10-14 days 
d) 15-18 days 

. 
  
 
  

Rabbit Level 3 Test



Digestive System of a Rabbit - Parts 
 
Identify the parts of the rabbit digestive system on the next screen. 
Use the number to the right of the answer box to locate the part on the diagram. 
Select the letter of the correct answer from the list to the right. 
 

 
29) ______ 1 
30) ______ 2 
31) ______ 3 
32) ______ 4 
33) ______ 5 
34) ______ 6 
35) ______ 7 
36) ______ 8 
37) ______ 9 
38) ______ 10 
39) ______ 11 

. 

a) Anus 
b) Appendix 
c) Functional Caecum 
d) Large Intestine 
e) Esophagus 
f) Liver 
g) Pancreas 
h) Rectum 
i) Salivary Glands 
j) Small Intestine 

k) Stomach 
. 
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Digestive System of a Rabbit - Function 

Identify the functions of the parts of the rabbit digestive system on the next screen. 
Use the number to the right of the answer box to locate the part on the diagram. 
Select the letter of the correct answer from the list to the right. 

40) ______ 1
41) ______ 2
42) ______ 3
43) ______ 4
44) ______ 5
45) ______ 6
46) ______ 7
47) ______ 8
48) ______ 9
49) ______ 10
50) ______ 11

.

a) Absorption of most food nutrients
b) Absorption of water nd minerals
c) Digestion begins
d) Emits fecal pellets
e) Fecal pellets are stored
f) Holding area for bacterial digestion
g) Tube for passage from mouth to stomach
h) Secretes saliva to moisten food
i) Releases bile
j) Releases juice to aid in digestion of starch,

fates & proteins
k) Aids in the digestion of cellulose

.
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True or False 
Mark the questions on the following screens as True or False. 

1) All full arch type breeds must be allowed to move naturally to evaluate type.
a) True
b) False

.

2) Flaming or burning a cage with a propane torch is a good means to sanitize a cage.
a) True
b) False

.

3) Orchitis is an infection of the middle ear.
a) True
b) False

.

4) Rabbits can get salmonella.
a) True
b) False

.

5) Splay leg is due to a recessive gene factor.
a) True
b) False

.

6) A heavily marked rabbit in a marked breed or broken group is called a charlie.
a) True
b) False

.

7) Flyback refers to a coat of fur that quickly returns to its normal position.
a) True
b) False

.

8) A rabbit with a pigeon breast should be disqualified from a show.
a) True
b) False

.

9) All breeds allow a junior age rabbit to show as a senior if it exceeds maximum junior weight.
a) True
b) False

.

10) All heavyweight breeds allow rabbits under 3 months of age to be shown in a pre-junior class.
a) True
b) False

.

Rabbit Level 4 Test



11) New rabbit breeds being judged under a working standard are allowed to compete for Best of 
Show. 

 a) True 
b) False 

. 
  

12) All bucks must show 2 normally descended testicles in order to be showable. 
 a) True 

b) False 
. 

  
13) A rabbit disqualified from its class due to wrong sex (i.e. doe in a buck class) cannot compete 

in the breed fur class. 
 a) True 

b) False 
. 

  
14) A rabbit disqualified for being in the wrong variety changes the official number of animals in the 

class. 
 a) True 

b) False 
. 

  
15) During meat pen judging a Californian or Himalayan marked animal is to be disqualified for 

smut. 
 a) True 

b) False 
. 

  
16) Coccidiosis is caused by a microscopic protozoan parasite that invades the intestine or liver. 

 a) True 
b) False 

. 
  

17) Pregnancy toxemia is also called mitosis. 
 a) True 

b) False 
. 

  
18) Sheen is found on the Satin fur type. 

 a) True 
b) False 

. 
  

19) A blaze is a face marking required on the Dutch breed of rabbit. 
 a) True 

b) False 
. 

  
Multiple Choice 
Read the sentences for each question on the following screens and select the best answer. 
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20) Which of these breeds does not have a commercial body profile? 
 a) French Angora 

b) Thrianta 
c) New Zealand 
d) Cinnamon 

. 
  

21) Which of these is not a bacterial disease? 
 a) Snuffles 

b) Pneumonia 
c) Conjunctivitis 
d) Toxemia 

. 
  

22) Which of these is not a viral disease? 
 a) Coccidiosis 

b) Myxomatosis 
c) Fibroma 
d) Rabbit Papilloma 

. 
  

23) The practice of rabbits consuming some of the droppings directly from the anus is 
_____________ ? 

 a) Genotype 
b) Pyometra 
c) Coprophagy 
d) Toxoplasmosi 

. 
  

24) A mandolin shape is typical of this body profile? 
 a) Compact 

b) Commercial 
c) Cylindrical 
d) Semi Arch 
e) Full Arch 

. 
  

25) Except for extreme cases and the addition of new varieties, changes to a breed standard is 
allowed every _____ years? 

 a) 6 
b) 5 
c) 4 
d) 3 

. 
  

26) Which breed may not compete in a commercial fur class? 
 a) Champagne D'Argent 

b) Giant Angora 
c) Himalayan 
d) Palamino 

. 
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27) Which is not generally considered a disqualification from competition: 
 a) Thin coat 

b) A cold 
c) Pot belly 
d) Cataract 
e) Lack of ring definition on an agouti patterned animal 

. 
  

28) Which breed does not have flyback? 
 a) Belgian Hare 

b) Californian 
c) Satin 
d) Harlequin 

. 
  

29) Which of these breeds does not have a compact body profile? 
 a) Anglish angora 

b) Florida White 
c) Rex 
d) Silver 

. 
  

30) A meat pen is made up of ____ rabbits. No rabbit may be over ____ weeks of age. 
 a) 2 rabbits, 10 weeks 

b) 2 rabbits 15 weeks 
c) 3 rabbits, 10 weeks 
d) 3 rabbits, 15 weeks 

. 
  

31) For a meat pen of rabbits, the allowable weight range for the rabbits is: 
 a) 1.5 - 6 pounds 

b) 3-6 pounds 
c) 3.5 - 5.5 pounds 
d) 5 - 10 pounds 

. 
  

32) There are 3 levels of meat rabbit determined by their age and size. The 3 levels are: 
 a) Fryer, Roaster, Stewer 

b) Baker, Roaster, Stewer 
c) Small, Medium, Large 

. 
  

33) What are the three fur characteristics that describe the way fur reacts when stroked from back 
to front? 

 a) Coarse, Medium, Fine 
b) Flyback, Rollback, Standing 
c) Flat, Rollback, Medium 

. 
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Rabbit Skeleton 
 
Identify the parts of the rabbit skeleton on the next screen. 
Use the number to the right of the answer box to locate the part on the diagram. 
Select the letter of the correct answer from the list to the right. 

34) ______ 1 
35) ______ 2 
36) ______ 3 
37) ______ 4 
38) ______ 5 
39) ______ 6 
40) ______ 7 
41) ______ 8 
42) ______ 9 
43) ______ 10 
44) ______ 11 
45) ______ 12 
46) ______ 13 
47) ______ 14 
48) ______ 15 
49) ______ 16 
50) ______ 17 
51) ______ 18 
52) ______ 19 
53) ______ 20 

. 

a) Pelvis 
b) Hip Joint 
c) Sternum 
d) Mandible 
e) Ribs 
f) Ulna 
g) Cervical Vertebrae 
h) Caudal Vertebrae 
i) Spine 
j) Elbow 

k) Carpus 
l) Radius 

m) Femur 
n) Maxilla 
o) Patella 
p) Scapula 
q) Tarsus 
r) Phalanges 
s) Tibia 
t) Skull 

. 
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